FHZ AT

Manual Vertical Linear Stage

ZM ) —X
ZM Series

B#EE MotionRange T—7IMAX TableSze EUF, Model Number

E-OO6page
E-012page

E-OO6page
E-O12page

E-O10page
E-O16page
E-008page
-S1K, ZMO5A-S3K E-O08page
E-O18page
E-OO6page
E-O10page
E-O16page
E-O16page
E-O16page
E-O18page

E-O18page
50 60

JKEMHE (N)  Horizontal Load Capacity (N) 20 25 30 40

120



EXA

Industrial

RERA
Experi-
mental

FEIEE
25—
Manual
Stage

=L
Rotation

AANIL
(I==)
Swivel

(Tilt)

[ElEA

Rotation

ZAR)L
(I=%)
Swivel
(Tilt)

7354
XU
27—
XYé

'-5-
Jvho-35
Motor
Controller

RSA4N
Ry IR
Driver
Box

77U
g—3>y
Applica-
tion
ET—9—
RS4N
Motor
Driver

'T—9—
T—=2
Motor
Cable

g%
Appendix

E-002

FHZAT—OHLE R

| ANYIRDRE

Understanding Specifications

Understanding Manual Vertical Linear Stage

ZMO7A-S3K

ANy Specifications

HEA Description

B O BRDEFFTY .
Model Number ZMO7A-S3K Kohzu's significant alpha-numeric model numbers offer quick product insight.
BFEVEK @ BROICX T DHBFEEROBNTY .
Mirror Model Number ZMO7A-S3KR Mirror symmetry of standard stage
T—7IVE @ AF—27—TIEDOAEZE,
Table Size 70mm x 70mm Table size refers to the stage's valid mounting table size.
ESo b BE/OAO—FH1(RK ® AT —ODENHRERLET .
Guide Mechanism Cross-Roller Guide Type of guide mechanism used on this stage.
e #8%) =3mm, & 0.15mm ® FDREEEELTTTANYAITATRRLET .
Motion Range Coarse +3mm, Fine 0.15mm Stage travel range in the positive and negative directions from it's centered or neutral position.
EEBE Y G ® BEFHFEBRLUTTE. —REHEP-004—2
Verticality = See "Kohzu Stage Inspection Standards" section, page P-004.
BR/ANGTAHE) 188) Sum/BEE, M 0.25um/BE | @ YA JOX—ZNYNETHARBIEND TEDH/IMETT .
Minimum Readout Coarse 5um/Scale, Fine 0.25pm/Scale Minimum readout is the smallest measurable actuator motion increment.
KR E 20.4N (3kef) ® AF—JhRTOBMALERTT,
Load Capacity (Horizontal) : Maximum load capacity is for a horizontally orientated stage with load centered on top-plate.
Rt TIWIEE © FIERINTVSHRZERLET .
Material Aluminum Alloy Material specification is for stage's main body components only.
Fas Beft ki HBEDBEPRENIEERLET .
Finish Clear-Matt Anodizing Surface finish type and color.
BE 0.9kg O WHOEETT,
Weight . Stage weight includes all components depicted in product photograph.
BxEh A KBRS aF— FPP03-13(13mm) | @ EAEN TS T/ F 1T —RDERPBEELRLET .
Actuator Fine Pitch Positioner FPP03-13 (13mm) Actuator model number and travel range.

IV—=2J") AR

Clean Room Lubricant Model Number

YMO7A-S3-CL-C

BEAOH Y 27V —2JUAEROERNTY., +C-003X—2
This is a model number with clean room lubricunt specification for model number (). See page
C-003

B22J) AEHRERK
Vacuum Lubricant Model Number

YMO7A-S3-CL-V

@ BROM T BRZITIAEHFORKTY, «C-003—2
This is a model number with vacuum lubricunt specification for model number (0. See page
C-003

CONTACT

TEL +81-44-981-2131/FAX +81-44-981-2181

[E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



EABN

Guide Mechanism Type

®/0AO0—5H1K Cross-Roller Guides

J7OAO—ZACMREF. 90°DViEZF OO—SL—AEMBEHIONSKRBIREANANTY . O—FL—ADOBEIE L. FEANR
B EFICKVFREOREDNS<BEEICHEFONTOET . AFAIORKIO2AOO—F L —AICEENLZERFICELE
WWCERBEINTVWEY . AT =PRI T ZRICIE. O—FL—A LZEHROBFEIODED S8 . FLEEIPSEBREAD
BEROZE ELEREGEROE) BNE AR TANYDBINLKLE>TVET, /2. /0AO0—FH AN $RIERR T
FEEZADEH. R—ILHMREELVERIEDS BB TUVEY . ZO/O0AO—FHA NG IRBICERET SN RIEHTR<
BEOEWVWEDZFERL. O—ZL—AEABFHIOROFEEREICEREL (allEZzM#FL TOET,

The cross-roller guide is a limited stroke linear and bending guide that consists of a roller race and rollers. The roller race
has 90 degree V-shape surface and it is harden and precisely polished. It is not only had a polished precise surface but
also precisely correct 90 degree. The cylindrical shaped rollers are inserted between two roller races and they are aligned
alternately. When the stage is moved, these rollers are rolling smoothly at the same time with the same tension because
the gap between roller race is correctly arranged and maintained for the same distance. There is no slipping, no stopping

due to the effective contact. As one of the feature, it has highly rigid more than ball guide because it has a longer contact
line.

/5RO AO—S5H 1K Wedge Type Cross-Roller Guides

PR IOAO—5 H41 RE . —BO5 0RO —S 1 NEKEEIC. 65— -
EIREEA /AR BESIC (1914) EFTRELTHYET (R-1268). 1 { -
AHDIFEERUAGE. sl HCBESh AT — T L FHLET . & 2

We/RAO—SHARDBKELRE DT DN EXABIH. T—7 I LEDE
— X MEIEDRIEENTOET,

One set of wedge type cross-roller guides are mounted on the horizontal
plane and the other set of guides are tilted so that tangent is 1/4
(approximately 14°) (see Fig. 1). If the wedge is pushed in from one side, the
table fixed to the central axis moves vertically. Since the tilted cross roller
guide supports the horizontal component of force, the moment load rigidity
on the table top face is reinforced.

@Iy 7—% Gothic Arc

dvo7—r &3 BAEORBRESEER—IDPSRDIRAFRTY (B-25
8B . AEOBEmEIE. 7 —7 I EN—RICEEMI I, EANREL LT
EBODTVET . AL BEHEDESRARDBICKENTEESNTL
T BAREER—IVE. EVNIARTEMT 5720, fEE8HT RYDRIVIC
SUOMBEICER>TOWET . el FEBEIIAR—IOXRZEEITITARDN. FidMms
#HeLELTVET,

Gothic arc is guide mechanism that is consist from the pseudo-cylindrical
sliding surface and the ball (see fig-2). This sliding surface is processed
into both of table and base of the stage, and finish in quench and grind. The
ball is set between groove of sliding surface. The sliding surface touch the
ball in each 4 point, then this point contact mechanism not likely to bring up
differential slip. And the size of ball is used for pressurizing control, it bring
decreasing of parts number.

BEOWAEDEIE*TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

EXA

Industrial

RERA
Experi-
mental

FoEE

AT—=Y

[ElEn

Rotation

AANIL
(I==)
Swivel

(Tilt)

X-XY
XXY

N

[Elk

Rotation

ZAR)L
(I=%)
Swivel
(Tilt)

7354
XY
25—
XYeé

tT-5—-
Jvho-35
Motor
Controller

RSA4N
Ry IR
Driver
Box

77U
TF—ay
Applica-
tion
tT—9—
[NE A
Motor
Driver

T—9—
=)
Motor
Cable

1153
Appendix

E-003



R EEEEESEEEEEEESSSIIE=ESSSSSSS
FRZAT—=OHAE R

Understanding Manual Vertical Linear Stage

EXA

Industrial

OM‘m 75 vybO—>5—41K Tetrahedral Flat Roller

288 | mEvSyYO—SER. BEONSEICHEI0EEREL. ZOAMIELKRO S NR
menal | i AN R T BEE. H MR ANBIE M EFIC K T, ERORE
PE BEICHE LB TOET ., FORO—S5HREHARBEIONES. HHE s
MERASS\A. BIEHS<. ERREMICENAEETT.

Tetrahedral Flat Roller is guide mechanism, put the ground bearing on to four-way of
transfer post, and set the four guide plate on the outside of bearing. The transfer post
and guide plate are finished highly flatness, squareness and toughened by quench
ground method. Compare with cross roller guide, longer than length and more quantity
of the ground bearing, then bearing area is large. It is superior in terms of stiffness and
angular stability as bearing contact area is large that's why longer and more quantity of
the ground bearing than cross-roller guide.

=L
Rotation

AANIL
(I==)
Swivel

(Tilt)

X-XY

X x4 AN

5 Lead Mechanism

Z

% @717l /N\—}A3 Micrometer and Lever

Rotation

IATOAX—BAYREEDHABD %, LIN—ICE>TETAEOAICERBL. AT
2unpy | —PVZETEHESEBZAATT (R-32R) . EANLHEEILTHEUT. v//aX—%&
@=#) | AYRREBBRI I aF—RO2BEHSHUET.

Swivel

(i3 This system converts the horizontal force of the micrometer head to a vertical force and moves the stage vertically by
zj’li means of a lever (see Fig.3). The basic structure is the same for all types and two actuators, the micrometer head and

2F—Y fine pitch positioner are available.
XYé

@ /7YEHK Wedge type Cross-Roller Guides

RATAX=ENYRBEDEEBDH%E. VY EICEOTLETARDAICERL . AT —2% L TFHESEEZANTT EIN—2
K-188R) . EANLEERZETRU T\ NLOREGEMEIRICERSE TR EZARNEBBERD 2 aF—RKTOY
EEH T ARNO2BEDHIET .

This system converts the horizontal force of the micrometer head to a vertical force by means of a 1/4-wedge and moves
Motor the stage vertically (see Fig. 1 on the previous page). The basic structure is the same for all types and two actuators,

T\oi"j;e\r direct connection of the handle-wheel rotation to the driving ground screw and a fine pitch positioner for pushing the
*ooz | wedge, are available.

Driver

Box

77U
g—3>y
Applica-
tion
ET—9—
RS4N
Motor
Driver

'T—9—
=
Motor
Cable

g%
Appendix

E-004 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



BEE

Accurate Travel Distance
UTDEATDZIAT—lE. ¥4I AX—RZDGZEHE) EEBOIEEEDREVET,

The following type stage, the micrometer measurement display matches the actuator movement distance. With other
stages, the display may not accurately match the actual movement distance.

OL/\—BEE)2AL7 Micrometer and Lever
SATOX—=ZANYRTHRLEDZLN—ICEOTETAMOAICERL TOWET (KSBR) . BB LB EEERIL. L/N\—D%
RPONREERREFTOERMETAIOX—INYROFIHEHIKOBEB TREINET . YA I7OX—ZNYROBEE DK
12D LT OBREEERIET

The force that is generated by pushing with the micrometer head is converted to a vertical force by means of a lever (see
Fig.3). The precise movement distance is indicated by a function of distances from the fulcrum of the lever to the power
point and to the action point, and by the shape of the micrometer head tip. The vertical movement distance is
approximately 1/2 of the micrometer head movement distance.

O /Y EEEEIS 17 Wedge Type Cross-Roller Guides
NRINCERELEMHEIR DB ULKIBE R Y3 —TIO/YEREALCZE T EBAT—IDLETEHLET GIN—CR-188]) . 7
YEREDOLED 140720 JHEDRUAHED1 /AN L THOBRBETT . /\NILEZLTDBE . 1BERSH74)0.125mm. 1
BREHEV10umBBLET  EERDVaF—R(7IHA EET1BREH7=12.5um. MEh 1 BEdH 721 TO.125umBEL£T.
The upper stage moves vertically by either of two means: the ground screw that is directly connected to the handle or by
inserting a wedge to the fine pitch positioner (see Fig. 1 on the previous page). Since the vertical-to-horizontal ratio of the
wedge is 1:4, the vertical movement distance is 1/4 of the wedge push-in depth. For the handle-wheel type, one rotation
corresponds to 0.125 mm and one division of the scale corresponds to 10 ym of movement. For the fine pitch positioner
type, coarse adjustment can be made in 2.5 pm increments and fine adjustment in 0.125 pm increments.

ﬁﬁuﬁ%ﬁZZ?—’? <A ORILA

Micrometer Holder

Bracket Type Vertical Linear Stage

MBXRZAT—INIE XAT =7 ARV REATICAAZYA AL IZEDTY,
BE . AT—IISEBERDOFEDN AT —T LEICRSROEBZRDNIMA D720 E) BB IE AT — 7 2 weight
JTEICERYMFITHIET 2L DRETHREZICL TRWERIE. AT —J RO\ HHE i
U2HRBICEREIDPDPZH. ENCEOTAT—IDTHEHEDHVET (GRE) . ZDIKE
EYAIORNABHIBOERICE>TRELADD. HBERZAF—2TT (GRA). BLATERL AL AEEDY
The bracket type vertical linear stage has an X-axis stage customized to a stand type.

Typically, to suppress any influence from the stage top face, the feed mechanism is mounted on the stage bottom plate. If
the stand type is used with this mounting configuration, a load is applied along the spring extension of the stage and the
stage height may drop due to gravity (as shown in the left part in the right figure). Bracket type vertical linear stage may
solve this problem by position change of micrometer holder.(see the right part in the right figure).

Y YRODETHEICDWLT  About the shaft length of counterbore

HEOTHETEAT -V [T ORICANS ™ ™
YIURDE T %%, [Shaft Length ** mm] & S Y an

FRLEY (BR. K. A ‘ \ ‘
YOURPRBEXVERY FFDHEEIO 4-for M3 screws i 4-for M3 screws i

KPR WEPETHEERYET (AR, H). Shaft Lentgh 3mm

The length of counterbore’s shaft for mounting is described “Shaft Length ** mm” (Top figure, left) in catalog drawing.

If counterbore does not exist on mounting part, depth size of base will be shaft length size (Top figure, right).

BEOWAEDEIE*TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

EXA

Industrial

RERA
Experi-
mental

Manual
Stage

[ElEn

Rotation

AANIL
(I==)
Swivel

(Tilt)

[Elk

Rotation

ZAR)L
(I=%)
Swivel
(Tilt)

7354
XY
25—
XYe

tT-5—-
Jvho-35
Motor
Controller

RSA4N
Ry IR
Driver
Box

77U
TF—ay
Applica-
tion
tT—9—
[NE A
Motor
Driver

T—9—
=)
Motor
Cable

1153
Appendix

E-005



| FEBZRAT—=Y / T=T V14X 40%40, 50%50

System
Manual Vertical Linear Stages / Table Size 40X 40, 50X50

Products

E%R

Industrial

RERA
Experi-

Manual
Stage

ZMO4A-C1 ZMOS5A-C1S
ZMOS5A-C1C

[ElEn

Rotation

@ ZM04A-Cc1 @ ZMo05A-c1C
50 (37.5)

AR
(I=#)
Swivel

(Tilt)
BEEE
ATF—=Y
Motorized
Stage

o A
X+ XY

® O)
S \R Micrometer Head
4-M3 Depth 4mm
Z 8-M2 Depth 4mm Clamp ©8 /

73 (37.5)

Clamp®8 ~

(10.3)
IN

P
s
&
©

40
30

5
40
24

(9.3)
|

Micrometer Head

@
Oz o 2 1 O ="
Rotation 1 L
P @

2
T
19.8 |

ZAR)L
(T=#) :
Swivel
(Tilt)

754
PN
25—
XYe

B= 4for M3 screws 30 BFEZY (IBR) TORIRFERVET.

AT =Y Shaft Length 5mm Mounting by low head screw (attachment)
Vacuum 32 |

Stage

30+1.5
o

o
|
|

5119 fﬂ
B mrer 8

I;%ﬁ; s Clao 4-for M3 screws
ack Side Shaft Length 2mm

32
30

HIHEE
Control
Electron-
ics

£-9— @ ZMO5A-C1S
avhk0-5
Motor 60.5 (57)
Controller 50

RSN 40
Ry IR 30
Driver 24
Box 13

77U I
TF—ay I
Applica-
tion

E=T= o 7
RSA4N Ad ?? Micrometer Head

Motor [P
Driver 4-M3 Depth 5mm Clamp®8 | _27.5
E- 8-M2 Depth 5mm 4-M3 Depth 3.5mm

T—=2
Motor
Cable

Appendix

é(} d H
P! e ) C)

|
e
fan)
&

50
40
30
24
13

]

|
|

o|
of

=

(9.5)

56+3.75

7t
HU— LE—
Accesso-

ries

1

RE
VAT I
Inspection
System

E-006 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



PV 90AR=-FH( K/ L/ 3470X-4 oun g 0 D) D

Aluminum Body / Cross-Roller Guide / Wedge / Micrometer

EXHA
Industrial
e
ZMO4A-C1 ZMO5A-C1C ZMO5A-C1S
Model Number
CESTRCIES i
. ZMO4A-C1-R ZMO5A-C1C-R ZMO5A-C1S-R Experi-
Mirror Model Number mental
F—7)E
Table Size 40mmX40mm 50mmXx50mm FEE
ERHR KEEo/NA0—SH1K AT—Y
Guide Mechanism Cross-Roller Guide Manual
Stage
o SR +2.5mm +1.5mm +3.75mm
otion Range
EEE
Wizl =4um/5mm =5um/3mm =6um/7.5mm
BINGAHEL) 5um/B&% 2.5um/B8% 5um/BEe&
Minimum Readout 5um/div 2.5um/div Spm/div
KRR
) @ty (o) 24.5N (2.5kgf) 39.2N (4kef)
e TIIEE [EE )
Material Aluminum Alloy Rotation
s 3 Btk
Finish Clear-Matt Anodizing .
aE AANIL
(I==)
Weight 0.19kg 0.29kg 0.41kg Swivel
BHHR RAHOX—&AYK(13mm) RAHIOX—ZAYK (15mm) (i
Actuator Micrometer (13mm) Micrometer (15mm)
) =20V AERREIK
Clean Room Lubricant Model Number Arjprgie LRSI ZW05ACISC
BZ2J AHRE
Vacuum Lubricant Model Number ZMO4A-C1-V ZMOSA-C1C-V ZMOSA-C1S-V ;(;(YY
F—N—R—IVBICZBBRAREENFTEA. FHRICOVWTHIER—-D%SE B2 J ) ZHHROBREREIC V" PEEET. FMlICDLTIZC-003~N—
BLTTFEW (R4 70X—=8ZAY REF—N—FR—I{RHNEBVET) . JEBRLTTFE.
Additional parts cost is not included on Overhaul cost. Refer to page 16 for Vacuum lubricant model has “-V” at the end of model number. Page C-003 for z
further information (Micrometer is not included in the overhaul). further information. z
o V=) AEROBKIIKEIC “-C" PHEET. F#MICDVTIZC-003 o BERDZELICKIBADYLES A T,
N=2%BRLTFEL. FLUSREEBETHBHOEDETZ0N.
Clean room lubricant model has “-C” at the end of model number. Page C-003 for We appreciate the product customizing. Contact us for further information. EEA
further information. ° FIEHYICDNTIE0-001XR—JEBRBLTTFI, Rotation
Refer to page 0-001 for information on accessory.
ZAR)L
(I=#)
Swivel
(Tilt)
7354
P2
AF=
XYe
tT-5—-
JvhO-3
Motor
Controller
RSA4N
Ry IR
Driver
Box
77U
TF—ay
Applica-
tion
tT—9—
[NE A
Motor
Driver
E==
=
Motor
Cable
8%
Appendix

BEOWAEDEIE*TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp E-007



| FHZAT—Y / T=TIHL X 50%X50

System
Manual Vertical Linear Stages / Table Size 50X 50

Products

E%R

Industrial

RERA
Experi-

Manual
Stage

ZMOS5A-S1K ZMO5A-C1K

ZMOS5A-S3K

[EIL

Rotation

@ ZMO5A-S1K @ ZMO5A-S3K

AR
(I=#)
Swivel

(Tilt)
BEEE
ATF—=Y
Motorized
Stage

50 (44) ‘ 50 (61)
40 40
30 30

. 24 i 5
13 Micrometer Head 13 Micrometer Head FPP03-13

. & I/ > [ osw <!
O @)\ L | &
4 D o 4 oty q %(g\i
(-] <) «

%

50
40
30

S

&
s | o ) s | @ © o ©
: & | [ Uy & | [ TR L

Clamp®15 255

50
20
30
24
13

(6.5)

®

<

N

o

()

kel

=

B

3

3
—]
—

®

=

w

o

[0}
kel

3

()]

3

3

o

QO

3
he}

=3

=

[6)]
e

» EN

o o

Iw

(6.5)

®©

=

N

o

[v}

2

N

E]

3
[ |
—

®©

=

w

o

0]

2

[©)

3

3

[EIEA

Rotation

ZAR)L
(I=#)
Swivel
(Tilt)

734
XUk 10
RAT=2) E ;
XYe T !
4-for M3 screws 4-for M3 screws
Bz 140 Shaft Length 4mm 140 Shaft Length 4mm
AF=
Vacuum
Stage

as|

56+3.25
R ECNCNC)
10 © ©
I
56+3.25
16 © 6

(C)
® -
o EER

16.5

@ ZMO5A-C1K

HIHEE
Control
Electron-
ics

tT5—-
avho-3 50
Motor 40
Controller

o 30 Clamp®15 255
RSA4N 13 \
Ry IR E@
Driver e —
Box +® H (i
77U ®
J—vav "
Applica- -
tion o & & 4
ET—9—

RSN\
Motor
Driver

E=/=
T—=2
Motor B ;
Cable ﬂtl \

8%
Appendix

(5)

50
40
30
13

4-M2 Depth 4mm \ \8»M3 Depth 6mm

Micrometer Head

56+3.25

7ot (57

1—
Ty 4-for M3 screws

/r\izcsesso— [J40 Shaft Length 4mm

RE
VAT I
Inspection
System

E-008 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



Aluminum Body / Cross-Roller Guide / Micro-Lever, Micrometer

PAR/9RAR=FH( K/ 3490V 749055 oun g ) D) 9B

EXHA
Industrial
e
ZMO5A-S1K ZMO5A-S3K ZMO5A-C1K
Model Number -
Mi BFEOEX ZMO5A-S1K-R ZMO5A-S3K-R Experi-
irror Model Number mental
F—7)E
Table Size SOmm>S0mm e
ESVE ¥Eo/OAO—SH1CK AT—Y
Guide Mechanism Cross-Roller Guide g"tzgéa‘
BEhEEE #8E) +3.25mm. & 0.15mm
Motion Range £3.25mm Coarse +3.25mm, Fine 0.15mm +3.25mm
EEE
Verticality =5um/6.5mm
BR/ANFAEL) ~ 5um/B&& 188 ~ Sum/B =, ME) ~ 0.25um/BE% 10um/B 5%
Minimum Readout ~ 5um/div Coarse = 5pm/div, Fine = 0.25um/div 10pm/div
IR E
Load Capacity (Horizontal) 19.6N (2kef)
wE TIIEE [EE )
Material Aluminum Alloy Rotation
s Btk
Finish Clear-Matt Anodizing N
- o
Weight 0.33kg 0.38kg 0.3kg S\{viv_el
BEHHR RAHOX—ZAYK(13mm) @A > aF— FPP03-13(13mm) RAHOX—&AYK (6.5mm) (i
Actuator Micrometer (13mm) Fine Pitch Positioner FPPO3-13 (13mm) Micrometer (6.5mm)
) =20V AEREINK
Clean Room Lubricant Model Number S LB LA IEE
BZ2J AERRE
Ve (Wi Meat] Nulses ZMO5A-S1K-V ZMO5A-S3K-V ZMO5A-C1K-V ii(yY
F—N—R—IBICBBRAREENTEA. FHRICOVWTIFIER—-D%SE B2 J ) ZHHROBREREIC V" PEEET. FMlICDLTIZC-003~N—
BLTTFEW (R4 70X—=8AY RIEF—N—FR—IRHNEBVET) . JEBRLTTFE.
Additional parts cost is not included on Overhaul cost. Refer to page 16 for Vacuum lubricant model has “-V” at the end of model number. Page C-003 for z
further information (Micrometer is not included in the overhaul). further information. z
o V=) AEROBKIIKEIC “-C" PHEET. F#MICDVTIZC-003 o BERDZELICKIBADYLES A T,
N=2%BRLTFEL. FLUSREEBETHBHOEDETZ0N.
Clean room lubricant model has “-C” at the end of model number. Page C-003 for We appreciate the product customizing. Contact us for further information. EEA
further information. ° FIEHYICDNTIE0-001RXR—JAEBBLTTFE, Rotation
Refer to page 0-001 for information on accessory.
ZAR)L
(I=#)
Swivel
(Tilt)
7354
P2
AF=
XYe
tT-5—-
JvhO-3
Motor
Controller
RSA4N
Ry IR
Driver
Box
77U
TF—ay
Applica-
tion
tT—9—
[NE A
Motor
Driver
E==
=
Motor
Cable
8%
Appendix
BEOEDEIE*TEL:044-981-2131 7 FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp E-009



| FRZRT—=D / T=TNHL4 X T0XT70

System
Manual Vertical Linear Stages / Table Size 70xX70

Products

E%R

Industrial

RERA
Experi-

Manual
Stage

ZMO7A-S1K ZMO7A-V1F
ZMO7A-S3K

[EIL

Rotation

@ ZMO7A-S1K @ ZMO7A-S3K

AR
(T=#)
Swivel

(Tilt)

BEEE
ATF—=Y
Motorized
Stage

X-XY @ & 57
X+XY e

8-M3 Depth 6mm 8-M3 Depth 6mm
S . LI 4-M4 Depth 6mm | & 4 4-M4 Depth 6mm ;
7 ® Kd 1i & |

Clamp®15 Clamp®15

70 (56.5) 70 (57.5)
60 60
40 40
30 30

Micrometer Head Micrometer Head FPP0O3-13

70
60
40
30
70
60
40
30

e}i

[EIEA

Rotation

ZAR)L | |
(I=%) '\H—l——l—' ~
Swivel

(Tilt)
754 ) ° i R ©
OIS ° o 1 = ©
25— — ‘
XYé T T T
= [160 4for M4 screws 160 4for M4 screws
25— Shaft Length 3mm Shaft Length 3mm

Vacuum
Stage

70+3.75
+

|©® © ©f

e
Control @ ZMO7A-VIF 115 (5.3)

Electron- 70
ics 60
F—9— 40
avhk0-5
Motor

Controller

RSN I
Ry IR
Driver
Box

77U N M /‘
T—vay < P
Applica- 4-M3 Depth 8mm

tion 4-M4 Depth 8mm /

ET—9—
RSN\ 40

Motor
Driver

E=/=
T ——— Sl ]
Motor | |-
Cable p
8%
Appendix ]

7
60
40
(¢}
€]

T T Clamp¢10
Handle Wheel

(13) (26.5)

B —
e

96+1

T

7ot
YU— 7

Accesso- 4-for M4 screws []60
ries Shaft Length 8mm

RE
VAT I
Inspection
System

E-010 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



Aluminum Body / Cross-Roller Guide, Tetrahedral Flat-Roller Guide / Micro-Lever, Belt-Drive

P31 90Aa-744 ¥, B&7 79 ba=754 K/ 9470015 AWM PEEY @M%

EXHA
Industrial
e
ZMO7A-S1K ZMO7A-S3K ZMO7A-V1F
Model Number
CESTRIES i
Mi ZMO7A-S1K-R ZMO7A-S3K-R ZMO7A-V1F-R Experi-
irror Model Number mental
F—7)E
Table Size 70mm>70mm e
RHHR EE/OAO0—S5H1K NE7SYha—5 AT—
Guide Mechanism Cross-Roller Guide Tetrahedral Flat-Roller Guide g"tzgga‘
BEhEEE #HE) £3mm, &) 0.15mm
Motion Range £3.75mm Coarse +3mm, Fine 0.15mm £10mm
EBEE =5um/7.5mm =4um/6mm =6um/20mm
Verticality - : - -
BR/ANGAHEL) ~ 5um/B&& 188 ~ Sum/B =, ME) ~ 0.25um/BE% S5um/B%
Minimum Readout ~ 5um/div Coarse = 5pm/div, Fine = 0.25um/div 5pm/div
IKFEMTRTE
Load Capacity (Horizontal) 29.4N (3kef) 117.6N (12kgf)
wE TIIEE [EE )
Material Aluminum Alloy Rotation
s Btk
Finish Clear-Matt Anodizing .
aE AANIL
(I==)
Weight 0.7kg 0.9kg 1.9kg Swive
EREIH R XA ZOX—EAYK (15mm) ¥#:AI 25— FPP03-13(13mm) NI (Tiiy
Actuator Micrometer (15mm) Fine Pitch Positioner FPPO3-13 (13mm) Handle-Wheel
) =20V AEREINK
Clean Room Lubricant Model Number S LTSRS Ll =0
BZ2J AERRE
Ve (Wi Mentl Nulses ZMO7A-S1K-V ZMO7A-S3K-V ZMO7A-V1F-V §>>((YY
o F—N—FR—IBIIBBRAREENFEEA. FHRICOVWTIHIERN-D%SE B2 J ) ZHHROBREREIC V" PEEET. FMlICDLTIZC-003~N—
BLTTFEW (R4 70X =AY RIEF—N—FR—IMRHNELVET) . JEBRLTTFE.
Additional parts cost is not included on Overhaul cost. Refer to page 16 for Vacuum lubricant model has “-V” at the end of model number. Page C-003 for z
further information (Micrometer is not included in the overhaul). further information. z
o V=) AEROBKIIKEIC “-C" PHEET. F#MICDVTIZC-003 o BERDZELICKIBADYLES A T,
N=2%BRLTFEL. FLUSREEBETHBHOEDETZ0N.
Clean room lubricant model has “-C” at the end of model number. Page C-003 for We appreciate the product customizing. Contact us for further information. EEA
further information. ° FIEHYICDNTIE0-001RXR—JAEBBLTTFE, Rotation
Refer to page 0-001 for information on accessory.
ZAR)L
(I=#)
Swivel
(Tilt)
7354
P2
AF=
XYe
tT-5—-
JvhO-3
Motor
Controller
RSA4N
Ry IR
Driver
Box
77U
TF—ay
Applica-
tion
tT—9—
[NE A
Motor
Driver
E==
=
Motor
Cable
8%
Appendix

BEOWAEDEIE*TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp E-011



| FRZRT—=D / T=TNHL4 X T0XT70

System
Manual Vertical Linear Stages / Table Size 70xX70

Products

E%R

Industrial

RERA
Experi-

Manual
Stage

ZMO7A-C3C ZMO7A-C6CO1

[EIL

Rotation

@ zZmM07A-C3C

AR
(I=#)
Swivel

(Tilt)
BEEE
ATF—=Y
Motorized
Stage

X-XY N ©

XeXY / . T
Z ~ * © Micrometer Head FPP03-13
z v \ _‘_%
—
K4 | | Q( ‘ [

o~ 4-M4 Depth 8mm
=R 8M3 Depth 6mm

Rotation

102.5 (47.5)

70
60
40

0

40+1.5

A R)L
(I=#)
Swivel
(Tilt)
734
AIh BEXY (HER) TORMSFERVET,
AF— Mounting by low head screw (attachment)
XYe
Bz
AF=
Vacuum ‘ ZMO7A—CGCOJ.

Stage 14n

70 a7

4-for M4 screws
Shaft Length Zmm

HIHEE
Control 60

Electron— 40
ics

30 8 Clam
tT5—- /
avhk0-5 &

Motor A A4
Controller {}e @
RSN \ 0
Ry IR
Driver / Il
e ©
77U
TF—ay

Box

Applica- ¢34 Handle Wheel
oy 4-M4 Depth 8mm

F—9— 8-M3 Depth 6mm

RSN\
Motor
Driver
E=/=
T—=2
Motor J

Cable © R yﬂﬂ s E?FJ

8% S
Appendix ¥ o e F—

L i ]
7 160 \4—for M4 screws

HU— Shaft Length 1mm

Reesese: B ((E&) TORUMIFERVET,
e Mounting by low head screw (attachment)

70
60
40
30
©
R
A
&

Lo

Q
S

RE
VAT I
Inspection
System

E-012 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



IV /o AAQ—ShH1 K/ 9YE T T

Aluminum Body / Cross-Roller Guide / Wedge

EXHA
Industrial
I}
—at ZMO7A-C3C ZMO7A-C6CO1
Model Number
CESTTRGIES i
Mi ZMO7A-C3C-R ZMO7A-C6CO1-R Experi-
irror Model Number mental
F—7)E
Table Size 70mm>70mm e
ERHR KEEoNAO—SH1K AT—
Guide Mechanism Cross-Roller Guide g"tzgéa‘
ey #8E) £1.5mm, & 0.075mm 2 5mm
Motion Range Coarse +1.5mm, Fine 0.075mm -
EEE
Verticality =3um/3mm =5um/5mm
BR/ANFAHEL) 108 ~ 2.5um/BR, #E ~ 0.125um/B% 10um/B &%
Minimum Readout Coarse = 2.5um/div, Fine = 0.125um/div 10um/div
KRR
Load Capacity (Horizontal) 49N (Skef)
ME TIZES [EE )
Material Aluminum Alloy Rotation
s Btk
Finish Clear-Matt Anodizing .
o AANIL
(I==)
Weight 0.75kg 0.85kg Swivel
BRE 5 H#AI 2+ — FPP0O3-13(13mm) NIRIL (Tiiy
Actuator Fine Pitch Positioner FPP03-13 (13mm) Handle-Wheel
) =20 AEEREIN
Clean Room Lubricant Model Number LT Rt AT EEe-C
BZ2J AR
Vacuum Lubricant Model Number ZMO7A-C3C-V ZMO7A-C6CO1-V ;(;(YY
F—N—R—IBICBBRAREENTEA. FHRICOVWTHIER—-D%SE B2 J ) ZHROBREREIC V" PEEET. FHMICDLTIZC-003N—
BLTTFEW (R4 70X—=2ZA\Y REF—N—FR—IRHNELVET) . 2B LTTFEL. C3C. C3C-RDY ) AMIAGKDAER)ET
Additional parts cost is not included on Overhaul cost. Refer to page 16 for Vacuum lubricant model has “-V” at the end of model number. Page C-003 for z
further information (Micrometer is not included in the overhaul). further information. Lubricant change is not avairable for actuators on stages that 7
© 7V Y7 AEOBREKRIC C" HHEET. HMICOLITIXC-003 include the C3C model.
N—=2%BRBLTTFEL., C3C. C3C-RDY ) AIIAFDHER)ET . o BERDIEZICKVREROBEL AN ET .
Clean room lubricant model has “C” at the end of model number. Page C-003 for FHLLIIEEBETHBRVADET X, B
further information. Lubricant change is not avairable for actuators on stages that We appreciate the product customizing. Contact us for further information. Rotation
nclude the C3C model. 7Y VIOV TIFO-001R—VEBRLTFEL,
Refer to page 0-001 for information on accessory.
ZAR)L
(I=#)
Swivel
(Tilt)
7354
P2
AF=
XYe
tT-5—-
JvhO-3
Motor
Controller
RS\
Ry IR
Driver
Box
77U
TF—ay
Applica-
tion
tT—9—
[NE A
Motor
Driver
E==
7=
Motor
Cable
8%
Appendix

BEOWAEDEIE*TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp E-013



System
Manual Vertical Linear Stages / Table Size 100X 100

Products

E%R

Industrial

RERA
Experi-

Manual
Stage

ZM10A-C3C ZM10A-C6C

[EIL

Rotation

@ ZM10A-C3C

ZA4NI)b

(== 100 31 (47.5)
Swivel 90
(Tilt) 60

40

BEEE
ATF—=Y
Motorized
Stage

& F3 [
X XY © ©

&
XeXY /X (5 | o
. GRS il ST A=
: U= :
-3

&
]

©

Rotation
8-M4 Depth 7mm
4-M3 Depth 8mm
ZAR)L
(I=#)

Swivel

(Tilt) ﬂ
) - /

734
AV b
25— o o [ © o o
XY9 l‘L‘”H‘ @ 543210 @ L\"H‘
Bz
AF— []90 4A-for M4 screws

Micrometer Head FPPO3-13

© &
[O%5
6 0

50+1.5
o
o
%%

22

Vacuum Shaft Length 3.5mm
Stage

Wi @ ZM10A-C6C

Control

Electron- 100 31 (44.5)
Ics )
2
avhk0-5
Motor
Controller Clamp®8

RSN *
Ry IR — @
Box /
77U
i KJ © [
E—9— & K \_ Handle Wheel ﬁ
O
[

=
i\
\/

100
90
0
40

Driver & ©
I
——]
TF—ay il
RSAN

Motor i 2 -
Driver S 8-M4 Depth 8mm

ES 4-M3 Depth 8mm

T—=2

Motor

Cable
8%

|
=

A di 0 / [E ]
ppendix q =
3 L
J o o = &
7ot — o W
)=
ﬁz:esso' []90 4-for M4 screws

Shaft Length 3.5mm

RE
VAT I
Inspection
System

E-014 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



IV /o AAQ—ShH1 K/ 9YE T T

Aluminum Body / Cross-Roller Guide / Wedge

EXHA
Industrial
e
Model Number ZM10A-C3C ZM10A-C6C -
= 1] A
S L ZM10A-C3CR ZM10A-C6C-R Expert-
irror Model Number mental
F—7)E
Table Size 100mm>100mm e
ERHR KEEo/NA0—SH1K AT—
Guide Mechanism Cross-Roller Guide g"tzgéa‘
ey #8E) £1.5mm, ##E 0.075mm 2 5mm
Motion Range Coarse +1.5mm, Fine 0.075mm -
EEE
Verticality =3um/3mm =5um/5mm
U\ ) 108 ~ 2.5um/BR, #E ~ 0.125um/B% 10um/B &%
Minimum Readout Coarse = 2.5um/div, Fine = 0.125um/div 10um/div
KRR
Load Capacity (Horizontal) 68.6N (7kef)
ME TIZES [EE )
Material Aluminum Alloy Rotation
s Btk
Finish Clear-Matt Anodizing .
o AANIL
(I==)
Weight Lot U5 Swivel
BRE 55 HH#AI 2+ — FPP0O3-13(13mm) NURIL (Tiiy
Actuator Fine Pitch Positioner FPP03-13 (13mm) Handle-Wheel
) =20V AEREIK
Clean Room Lubricant Model Number LA L EEe
BZ2J AERRE
Vacuum Lubricant Model Number ZM10A-C3C-V ZM10A-C6C-V ;(;(YY
F—N—R—IBICZBBRAREENTEA. FHRICOVWTIHIER—-D%SE B2 J ) ZHROBREREIC V" PEEET. FHMICDLTIZC-003N—
BLTTFEW (R4 70X—=ZAY REF—N—FR—IMRHNEBVET) . 2B LTTFEL. C3C. C3C-RDY ) AMIAGKDAER)ET
Additional parts cost is not included on Overhaul cost. Refer to page 16 for Vacuum lubricant model has “-V” at the end of model number. Page C-003 for z
further information (Micrometer is not included in the overhaul). further information. Lubricant change is not avairable for actuators on stages that 7
© 7V Y7 AEOBREKRIC C" HHEET. HMICOLITIXC-003 include the C3C model.
N—=2%BRBLTTFEL., C3C. C3C-RDY ) AIIAFDHER)ET . o BERDIEZICKVREROBEL AN ET .
Clean room lubricant model has “C” at the end of model number. Page C-003 for FHLLIIEEBETHBRVADET X, B
further information. Lubricant change is not avairable for actuators on stages that We appreciate the product customizing. Contact us for further information. Rotation
include the C3C model. T oY UILDVTIZO-001X—I%BELTFEL,
Refer to page 0-001 for information on accessory.
ZAR)L
(I=#)
Swivel
(Tilt)
7354
P2
AF=
XYe
tT-5—-
JvhO-3
Motor
Controller
RS\
Ry IR
Driver
Box
77U
TF—ay
Applica-
tion
tT—9—
[NE A
Motor
Driver
E==
7=
Motor
Cable
8%
Appendix

BEOWAEDEIE*TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp E-015



0 | FMzRA7-Y / F-T ¥4 X 30%30, 40x40, 50X 50, 70X 70

System
Products

E%R

Industrial

Manual Vertical Linear Stages / Table Size 30X 30, 40X40, 50x50, 70x70

RERA

Manual
Stage

GZMO03S-X1 GZMO5S-X1

GZM04S-X1 GZMO7S-X1

[ElE
Rotation

@ GZMO03S-X1 @ GzmMo4s-X1

ZAN)L
(I=7)

Swivel

! @ 9
Til
(Tilt) Clamp®6 | : Clamp®8 ® ©

E@*ﬁ%‘ e Micrometer Head
AT—=Y

Motorized

Stage (73) 30 (15)

X-XY 24
X-XY 13

Micrometer Head

0 [ 0 %

(9.3) 40 (20 16/10
30

(66.7)

o | ™ !
z MNHI Pi
Z —¢ A4
i =

8M2 Depth 3mm @

i Fi
5 4 H7 Depth 3mm i Fid
Rotation 124 4-for M2 screws //

Shaft Length 5mm 4-M3 Depth 4mm 7 T T o

A R)L 4-M2 Depth 3mm
(I=%) ‘ 130 ‘ 4for M3 screws 40

Swivel ®4 H7 Depth 4mm Shaft Length 4mm
(Tilt)
P54
XTIk
27—
XY6
B
27—
Vacuum @ GZMO05S-X1 @ GZMO7S-X1
Stage

40
0
4
(86.5)

&
60
40

HlfHI=E

Control

E:I:ctron— _@ @_ Ww

== Clamp®d8
avho-3
Motor

Controller -
S= v ] ojo [ Micrometer Head
el (9.3) 50  (20) 16 /13 ) o @

Ry IR 20
Driver .
Box 30 : (9.3) 70 (20) 18/12

77U 60
TF—ay | 50
Applica-
tion

ET—9—

RSN ®,
Motor

Driver /

—g— 8-M3 Depth 4mm ﬁi T e :m
= —

Motor 4 H7 Depth 4mm 40 ~ 50

Cable 4for M3 screws .= |
o Shaft Length 7.5mm d
HESTER 8-M4 Depth 4mm /UL il i il

L160 4-for M4 screws 70
e P4 H7 Depth 5mm Shaft Length 7mm
HU—

Accesso-

ries

g ele I Micrometer Head Clamp®8

50

40
30

(96.5)
75

50
70
60
50
i

(116.5)

105

RE
VAT I
Inspection
System

E-016 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



SUS/@Re / 3vy57~7 /34 70X-5%4 AL oy o () () O

SUS Body / Vertical X / Gothic-Arc / Side-Mount Micrometer

EXA
Industrial
BR
GZMO03S-X1 GZM04S-X1 GZMO05S-X1 GZMO7S-X1
Model Number -
S L GZMO3S-X1-R GZMO04S-X1-R GZMO5S-X1-R GZMO7S-X1-R Exper-
irror Model Number mental
7_-_7“)?@ 30mmx30mm 40mmX40mm 50mmx50mm 70mmXx70mm
Table Size FENEE
ESVEN I vo7—4 AT—Y
Guide Mechanism Gothic Arc Manual
B i
Motion Range +3.25mm +6.5mm
FEEHE
Verticality =10um/6.5mm =10um/13mm
B/NGEAHEL) 10um/B%%
Minimum Readout 10pm/div
IKFMHTETE
Load Capacity (Horizontal) 19.6N (2kgf) 29.4N (3ksgf)
HE SUS440C (F5 7 v NBiE 7L a2) O
Material SUS440C (Bracket material is Aluminum Alloy) Rotation
S8 SNEWIBREL (TS Y MBIEE B L)
Finish Nothing (Bracket finishing is Clear-Matt Anodizing) N
e B
Weight 0.14kg 0.31kg 0.49ksg 0.95kg S\{viv_el
COVES IAHRA=EAYK (6.5mm) RATAA—EAYN(13mm) (Tilt)
Actuator Micrometer (6.5mm)) Micrometer (13mm)
— A 1]
Sl ao AR GZMO3S-X1-C GZMO4SX1-C GZMO5S-X1-C GZMO7S-X1-C
ean Room Lubricant Model Number

) =200 ZEHROBKXIFREIC -C" HPFEET, FHMICDLVTIZC-003 o BERDCEZICKVRROBEL AV LT, XXY
N=2BRLUTFE. YA 7OX—ZOHZAELTEVET (NEEBIET Y FLLIEEBETHROEDET X, -~
=T 1) AHEH) . We appreciate the product customizing. Contact us for further information.

Clean room lubricant model has “-C” at the end of model number. Page C-003 for T Y YICDNTIZ0-001 R—S BB LTTFE0N,
further information. Only Micrometer part can change the clean room lubricant Refer to page 0-001 for information on accessory.
(Body part is already used the clean room lubricant).

NN

[Elk

Rotation

ZAR)L
(I=%)
Swivel
(Tilt)

754
PSS
25—
XYe

tT-5—-
Jvho-35
Motor
Controller

RSA4N
Ry IR
Driver
Box

77U
T—vav
Applica-
tion
tT—9—
[NE A
Motor
Driver

E==
=
Motor
Cable

8%
Appendix

BEOWAEDEIE*TEL:044-981-2131, FAX:044-981-2181 [E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp E-017



| FHZRAT-2 / T=TMH14 X 50%50, 70x70, 100X 100

System
Manual Vertical Linear Stages / Table Size 50x50, 70x70, 100X 100

Products

E%R

Industrial

RERA
Experi-

Manual
Stage

ZMO5A-X1 ZMO7A-X1 ZM10A-X1
[ElEn

Rotation

@ ZMO05A-X1 @ ZM07A-X1

AR
(I=#)
Swivel

(Tilt)
BEEE
ATF—=Y
Motorized
Stage

X XY
XeXY

Clamp®15 Clamp®15

PLCkI0 0N -

z (16.5) 70 (20)
z (16.5) 50 (14.8) 20 12 50

Micrometer Head 40
30

Micrometer Head

[ElEA

Rotation

o

1
&
D

©
70
60
40
30
=g

50
40
30

A3,

(129)

ZAN)L
(I=#)
Swivel
(Tilt)
=
;(?1 [J40 4-for M3 screws 50
Zi— > Shaft Length 7.5mm

” [Je0 4-for M4 screws 70
XYe Shaft Length 7mm

75

105

Y
| | hd %
He o

. ~
T 8-M3 Depth 5mm
‘ ) 5M4 Depth 5mm

Al

AL
7
1
1

Bz
2AF—Y

Vacuum @ ZM10A-X1
Stage

HIHEE
Control @ @

:Eclzctron— @ {} @

==
avhk0-5
Motor
Controller Clamp®15

I I
BSAN T Toels——a e
Ry IR 5o

Driver
Box

77U (16.5) 100 (26)
TF—ay 90
Applica- 60
tion 20
E== 30
RSN\
Motor

Driver fin
E=/=
T—=2
Motor

Cable g T |

= M4 Depth 6mm
8% e k
Appendix i3

Micrometer Head

100
90
60
40
30

(180.5)

140

&
bid
90

= hadind 8-M3 Depth 6mm
7t 8-M4 Depth 6mm
)=

Accesso-

|
| |

== [Joo 4-for M4 screws 100
Shaft Length 9.5mm

14
—T
L

s

RE
VAT I
Inspection
System

E-018 CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181 [E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



TWI /B / JO0AD=F54 K/ 94704 =44%1 FRL PZEEe @M

Aluminum Body / Vertical X / Cross-Roller Guide / Side-Mount Micrometer

R ZMO5A-X1 ZMO7A-X1 ZM10A-X1
Model Number 05A- 07A- 0A-
) BFEOEX ZMO5A-X1-R ZMO7A-X1-R ZM10A-X1-R
Mirror Model Number
F—7)E
Table Size 50mmXx50mm 70mmX70mm 100mmx100mm
ESpsk-o BREI/OZAO—FH/R
Guide Mechanism Cross-Roller Guide
o SR +3.25mm +6.5mm +12,5mm
otion Range
EEE
Wizl =5um/6.5mm =7um/13mm =10um/25mm
B/NGEAHEL) 10um/B%%
Minimum Readout 10pm/div
IKFMTRE
Load Capacity (Horizontal) 19.6N (2ksgf) 29.4N (3ksf) 39.2N (4kef)
YRS TIVIES
Material Aluminum Alloy
s 3 [Sjztnalnlrg
Finish Clear-Matt Anodizing
BE
Weight 0.3kg 0.8kg 1.8kg
BEHR YA YAX—ZAYR (6.5mm) YA Y7AX—=EAYN(13mm) YA 7AX—EAYN(25mm)
Actuator Micrometer (6.5mm) Micrometer (13mm) Micrometer (25mm)

) =20V AERREIN
Clean Room Lubricant Model Number

ZMO5A-X1-C

ZMO7A-X1-C

ZM10A-X1-C

BZ2J AERRE
Vacuum Lubricant Model Number

ZMO5A-X1-V

ZMO7A-X1-V

ZM10A-X1-V

F—=N—R—IBICZBBRAREENTEA. FHRICOVWTHIERN—=D%SE
BLTTFEW (R4 70X—=ZAY REF—N—FR—I{RHNEBVET) .
Additional parts cost is not included on Overhaul cost. Refer to page 16 for
further information (Micrometer is not included in the overhaul).

o 7)) =20 ZAHROBRIIREIC -C" HPHFZET. FHMICDLTIZC-003
~N

—SEBRUTTFEL,

Clean room lubricant model has “-C” at the end of model number. Page C-003 for

further information.

BREIWLWEDLEIE*TEL:044-981-2131,7 FAX:044-981-2181

525 ZEHROBKEFKRRIC V" HPEEET. FMlICOWTIZC-003N—

DEBRLTTE0,

Vacuum lubricant model has “-V” at the end of model number. Page C-003 for

further information.

o BERDCRLEICK ) HBDBEE K FT

FLIFEERBETHEHVEDET S0,

We appreciate the product customizing. Contact us for further information.

FIEYIICDWTIFO-001RN—=2 BB L TTREL,
Refer to page 0-001 for information on accessory.

[E-mail] sale@kohzu.co.jp [URL] www.kohzu.co.jp

EXA

Industrial

RERA
Experi-
mental

FEEE
25—
Manual
Stage

[ElEn

Rotation

AANIL
(I==)
Swivel

(Tilt)

XXY

NN

[Elk

Rotation

ZAR)L
(I=%)
Swivel
(Tilt)

754
PSS
25—
XYe

tT-5—-
Jvho-35
Motor
Controller

RSA4N
Ry IR
Driver
Box

77U
TF—ay
Applica-
tion
tT—9—
[NE A
Motor
Driver

E==
=
Motor
Cable

8%
Appendix

E-019



PN
up=l
oo
System

Products

EXHA

Industrial

RERA
Experi-

Manual
Stage

[ElEn

Rotation

AAN)L
(I=#)
Swivel

(Tilt)
BEEE
25—
Motorized
Stage

X XY
XeXY

[ElEA

Rotation

ZAR)L
(I=#)
Swivel
(Tilt)
734
XUk
AF=
XYe

Rz
27—
Vacuum
Stage

HIHEE
Control
Electron-
ics

tT5—-
avhk0-5
Motor
Controller

RS54\
Ry IR
Driver
Box

77U
J—vav
Applica-
tion

ET—9—
RSN\
Motor
Driver

T-9—
T—7

Motor
Cable

8%
Appendix

7t
JU—
Accesso-
ries

RE
VAT I
Inspection
System

E-020

FHZAT—>

Manual Vertical Linear Stages List

25X
Model Number

ZMO4A-C1

T—7I)VE
Table Size

40mm X 40mm

B

-

BaEnH

Motion Range

+2.5mm

KT E

Load Capacity (Horizontal)

24 5N (2.5kgf)

BE
Weight

0.19kg

E-006~E-007

ZMO5A-C1S

50mm X 50mm

+3.75mm

39.2N (4ksf)

0.41kg

E-006~E-007

ZMO5A-S3K

50mm X 50mm

Coarse £3.25mm, Fine 0.15mm

19.6N (2kgf)

0.38kg

E-008~E-009

ZMO7A-S1K

70mmX70mm

+3.75mm

29.4N (3kef)

0.7kg

E-010~E-O011

ZMO7A-V1F

70mmX70mm

+10mm

117.6N (12kgf)

1.9kg

E-010~E-011

ZMO7A-C6CO1

70mmX70mm

+2.5mm

49N (5kef)

0.85kg

E-012~E-013

ZM10A-C6C

100mm X 100mm

+2.5mm

68.6N (7ksf)

1.8kg

E-014~E-015

GZM04S-X1

40mm X 40mm

+6.5mm

29.4N (3ksf)

0.31kg

E-016~E-017

GZMO7S-X1

70mmX70mm

+6.5mm

29.4N (3ksf)

0.95kg

E-016~E-017

ZMO7A-X1

70mmX70mm

+6.5mm

29.4N (3ksf)

0.8kg

E-018~E-019

BFEOEXFERLTOEY

Mirror Model Number is omitted

CONTACT TEL +81-44-981-2131/FAX +81-44-981-2181

[E-mail] e-sale@kohzu.co.jp [URL] www.kohzuprecision.com



